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Note :

vi)

vii)

viii)

The question'paper is divided into tweo parts — Part-A and Part-B.

Part-A and Part-B are divided into three Sub-Sections — (1), (2) and
(3). )

In Part-A of the question paper, there are multiple
by a blue or black ball.

choice questions in

which select the correct alternative and then
point pen, fill completely in the circle in OMR Answer Sheet. Do not

erase, cut or use whitener on the OMR Answer Sheet afte wering,

1 mark is allotted for each question in the multiple € question of

Part-A.

Part-B has descriptive questions. 6g

The allotted marks are given in each qu

All the questions of Sub-Sections of are to be attempted all at a

time. Start each Sub-Section from page.

All the questions are mmpul@
e - =

N PART-A

¥ )
( ple Choice Type Questions )
’ IQUTT - (1)
Sub-8ection - (1)

1. ﬁn1<f55$nq—u1éh1@ﬁ%:ﬂmﬁfa%‘ﬁ#?%iﬁﬁqtﬂﬂﬁﬂiiEﬂqr?nﬁﬂz?

P AFa g FITASE  (B) 10 W Fiekw gft w1 A o
2oihﬁqﬁmawg1anaﬂﬁrﬁa' (D) 20 ¥t B Zh F1 aaw o 1

Which of the following lenses should be used to read small letters ?

(A} Convex lens of 10 cm focal length

(B) Concave lens of 10 cm focal length

(C} Convex lens of 20 cm focal length

(D) Concave lens of 20 cm focal length y
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2. i & feuRwma w www R

(A) WH & TR (B) W& ® WEdA
(C) SgAvEHr Jrada D) ¥ A wrf :
2. The cause of twinkling of stars, is
(A) Scattering of light (B) Reflection of light
.(C}) © Atmospheric refraction (D) None of these 1

3. Ioet i g A W fua I @ wiefiea B d
(A) Irfas T w9

(A) Real and magnified 4By  Virt
(C) Virtual and magnified

4, Ad vEm # e | e 9w, gl

(a) e @m

) = "{D) Hren 1
4, The colour having larg le of deviation on passing white light
through a prism, will beg
(A) Yellow (B) Green
(C) Orange o Q (D}~ Blue !
5. wam AR \ﬁ?ﬁﬁlgﬁm{matching),iﬁﬁq B# & % +itfew ufimi &
T WQW :
Q" » =
Q (1) I i  fgaww
2) 9E i) foga wiw
(3) wdm (i) foge of%
4 = (v) Frga fmar

(A)  (1)-(ii), (2)-(idi), (3)-(3), (4)-Gv) @) (1)-(iv), (2)-(id), (3)-(i), (4)-(ii)
©  ()-(ii), (2)-), (3)-(iv), (@)-G0) @ ()G, (2)-(0), (3)-(ii, (4)-0V) 1
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5. Choose the correct alternative by matching the physical quantities jp

column (B), with the units in column (A).

A B
(1) ohm ()  electric current
(2) watt (i)  electric resistance
(3) ampere (iii) electric power
(4) wvolt livy Electric potential differe

C(A) (1)), ()-Gi), B)-), (4)-(v) B (1)-(iv), (2)- -(ii), @ » (4)- {illl
(©) (1)-(i), (2)-06), B)-(iv), (4)-G) ®)  (1)-(id), (2 3)-(iii), (4)-Gv) 1

6. Raanﬁﬂ*ﬁ%\sa‘raﬁaﬁmﬁmmm wa § g S #
ﬂﬁﬁmﬁﬁﬁﬂmmﬁ'w}? R/Rz’mr
(A) 9
9
€ 3 1
6. Two wires of resistances R m& are Jomcd first in series and then in
parallel. If the total resi in the two conditions are R, and R,
respectively, then R, / be
(A) B 3
2
7. g&wq{mﬁiﬂ ﬂa%mmmﬁq{mﬁﬁam
s &4

L] e

T 1T 1

(A) W AR

B) T A
(C) FIE & a1 F wrmad 4 A A
(D) &7 & 79 F eraad ST A AN
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7. The direction of the force acting on the electron entering perpendicular

to the magnetic field as shown in the figure, will be
magnetic field

I

¢ 1
I I | I ¢lectron

(A) towards left
(B) towards right
(C) perpendicular to the plane of paper downwards 0&
(D) perpendicular to the plane of paper upwards 09 1
Sub-Section - (2) 6@
8.  snww i frarers wqg } \0
(A) -CHO §c =0

(
(C) -OH @} - COOH 1

8. Functional group in prow
B) >C=0

(A -CHO X
09

IUHET- (2)

(C) -OH (D) -COOH : 1
9. g U #I,
@A) 7 \b B) 14
(© D) 5 ]
9. Q value of neutral solution is
@A)y 7 B 14
(C) 1 D)y S 1
10. Frafafea & i 2
(A) WA (B) WA
(C) WA D) Wi\ 1
[ Turn over
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1.

12,

13.

13.

The ketane it the following is

(A} Methanol )
(ICL  Propanone (1)
T W A WA T R aen e

(Al Au (B)
) KN (D)

Ethanol

Propene 1

AR

Cu o& 1

The element producing hydrogen gas with cold water ib

(A} Au (B)
€ K (D)
Fe yae 6 difte g § 3w e o

A

®
(C) WwH \{.o{m

*

Ag

Cubq |
feaTeE STH F H fFa i

Wi

JAEH W YT |

The process for obtainin@w from carbonate ore by heating at a high

temperature in a limj pply of air is
A) Calcinatitbo (B)
(C) Smelti (D)

!T«'Q;—ﬂ CuSO, + Fe — FeSO, +Cu 2
@ it At ®)

(C)  vges fufear (D)

Roasting

Concentration of ore !

foreumm arfiferan

T g afifra 1

Chemical reaction CuSO, +Fe — FeSO, +Cu is

(A) Combination reaction
(B) Displacement reaction

(C) Decomposition reaction

(D) Double decomposition reaction
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15.

16.

16.

17.

17.

7

JIHTT - (3)
Sub-Section - (3)
ey v 3 forq ST
(A) Frda TreaiETEs T W B) T w1 vEm
(C) TR D) =98 Q& it

The autotrophic mode of nutrition requires

(p) Carbon dioxide and water (B)  Sunlight

Pt § ¥ HA-|1 96T EEE R 2

00
(A) TRRRH (B) “@@

(C) e (D)

Which of the following is a plant ho

(A) Testosterone @) Cytokinin
(C) Adrenaline Qt (D) Thyroxin

TRy # B &
(A) IHSE 09 ) it

(C) ROT 0 (D) ETEICH
The anthe@s

(A) | (B) Uterus
( Qﬁl grains (D) Sepals
é‘?‘“ (GAS) T o e @

(A) TR H B) R
() wrifEe & o) FERH
Reproduction by means of regeneration occurs in
(A) Hydra (8) Planaria
(C) Bryophyllum (D) Pigeon

7000/72
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)

(C) Chlorophyll DYy~ All of these 0

1
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8.

18,

19,

19.

20.

20.

QA afw B F o e o w e
A) e B) e
() Frsifem (D) SEHH

The gap between two neurons s called a/an
(A) Synapse (B) Auxin

(C) Gibberellin (D) Diaphragm

ﬁqﬁﬁﬂqwmﬁmmmt? &
(A) ;| (B)
(C) = 9w

Which one of the following is an cxample of p & in an ecosystem ?
(A) Lion

(C) Green plants

mﬁmmﬁm%ﬂﬁ#%ﬂa Wf‘m’m%?

(A) M / gifer /a3

(C) ®%g / Fft g Qm i @ ot ]

Which character(s) of Pe @nt has been studied by Mendel in his
experiments ? é

(A) Round/Wrinkl \fi _ (B)  Tall/Dwarf plant
(C) wmm;wm&t (D)  All of these 1
|vE -
\b\o PART - B
( FUiATTE W )
0 ( De:criptlva Questions )

Q - (1)

Sub-Section - (1)

(i) T ¥ whiviq @ pfos gl wang) 2
(i) 3 3w frad yer ¥ A & 2 I T ol ?
(i) State two natural phenomena of scattering of light. 2
(i) How many types of defects of vision are there ? Write down their
2

names.
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2. () et g qen e S8 S - v g | 2
i) o o @ fed 3w F R ¥R # few st 2
2. [y Write down two uses each of convex mirror and convex lens. 2

(i) Draw a ray diagram of the image of an object formed by a concave

lens. 2

3, () et fdees § o SR FH W Sewha T wha B R A E 2 2
(ii) soomwmlzﬁawﬁr&:mﬁmﬁlmmsw
fraelt fraiaTe-ger ot &t 394 foar sian 2 7 (o M

3. (i) How are voltmeter and ammeter joined on pass égrcnt in a

resistor ? | q

(i) A refrigerator of 500 watt is used for 12 ho eryday. How much
kilowatt-hour energy is consumed by $ frigerator for 30 days ?
2

4, (i) M@gw%aﬁaﬂz@% aﬁaﬁﬁamﬁ:@w 2
(i) arETE SfETeE % HRw fer-fmr st st s 2 2 2

(i) T F= ad gy w 2

(i) mm@m@wmaﬁwwm—ﬁﬂmmﬁnﬁ

(ii) Wﬁmﬁaﬂm@%i}?maammm%m

Q *

4. () ~Show by making a diagram for the magnetic lines of force around a
bar magnet, | ' 2

(i) On which factors, does the magnetic field due to a current

carrying solenoid depend ? | 2
(i) What is Fleming's left hand rule ? 2
OR
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(i)
(1i)
5 (a)
(b)
S (a)

V4

6. (a)
(b)
6. (a)
(b)
7. (a)

10
ing on @ current carrying

On which factors, does the force actin X

' d?
conductor placed in a magnetic field depen | |
lectrical circuit ? Write the

How many wires are used in domestic € )

. : ion.
names of each and their colours of insulatio

IAUET - (2)
Sub-Section - (2)
frefeRea @t % 1upAc Tm fafae
() e
(i) THifRr® 3=
wHTE F A vt affrmst % gaats @

Write IUPAC names of the following co

~y'] Acetylene &\
(i)  Acetic acid o

chemical reactions of ethanol. 2

z&q R =) auene A Igrewit w1 TErEts wHww faiee) 2
wishaar Svft T T ST farfag| 2

Explain the of combustion and write chemical equations of

Write chemical equations

two exam it. 2
&
Explai \ctivity series and write its one use.

2
&a,ﬂtwﬁmwm&% o e § pH ¥ @ gy Rfew 3
3

uw;i‘%}wazﬁﬁnnqanﬁaﬁiﬁﬁzﬂﬂtﬂnmhaaaﬁhmwvautéiaﬂﬁhTﬁHﬁEQ|

Fran
Frefaftaa w feuft fafa -
(a) frde | | o
(b)  HEw 2

(c)

7000/72
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.7' (@)  What do you understand by acid and base ? Write two applications

of pH in daily life. 3

(b)  Write the chemical equation for the method of obtaining bleaching

powder and its two uses. 3

OR

Write short notes on the following : &
(@  Micelle | o

(b] Corrosion 0‘
(c) Versatile nature of carbon. eq , 2
YN - (3) \Q '

Suh-Section—
8.  wifys yada ¥ ? » If@ Jemw WA @ 391 qui HIfd)

g
Q* 1+1+2

8. What is vegetative pmp& ? Describe it with suitable example and

diagrams. 0 1+14+2
9. Fafafeawa farfaa - ” s s
(a) namﬂ\i§=h |
(b) L&t
9. \‘Q short notes on the following : 249
(a) Photosynthesis
(b) Human heart |
1o, e v 71 R 2 Tt & e geh wE WONH ST 2+2
10. What is Ozone layer ? Highlight its importance for earth. 242
[ Turn over
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11. fPrafafes | fooft fafee

12

(@) fom fukm
(b) AvEHA % W)

rgat
wHa g W wE fraey faftan)

11.  Write notes on the following :

(a) Sex determination

(b) Mendel's laws.

Write an essay on human hormones.

824(10) - 4,48,000
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\19
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